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CHUSERY L AT RN
360 = (4+5) X 2=280 (F>).

KA T 18 X 2 =36 (F));

P 2R [B]HY PR 60 X 12 X 2= 1440 (0K )

TR

e i i B B R S — 2 i 4, B T
AT LK RS BT 5 A R T o
BB 360 < 2 + 5= 36 (F). HUF 2

60—20 = 40k, B 247 50 k51T 40 KAt H B B Je) A 4

= 1.25f%. ZiLF T 10RAKAT, ELT5E10K A B [a] A F"leHMT
8=12 (k).

Va4 2 N2 A BeHE— K. MmN E—

(10 X 60—18) = 36 =16 ()

A KR —
A BRI

£]
Ll

U iy

YRS T
6 ()




20. Zead XFEE Rl A H 2 /8B EI’JE%%: Z AR ERRE , BIAH R B RE O W R I [ Y 2 5. 45817 6 /)
I BT 1 ER I 2 /NI 3 T Y et ke . I3 /17 12—2 = 10 (VN ).

— H—H. (3t84)
1. (0.81).,
8 X 5—-2%3=(TxB—4xXB8)—(TX2—4x3)=56—3=34,

8 = 13=0.615384, 123 -~ 6=20------ 3, &5,
308.88 - 99 =312, JRZ{RE 3.12 X 100 = 312,

6.25=25X 25, 25 X 04=1, M1,

89 X 3=267, 267—5—14 =248, 8, 45, 214,
N WH.  (3K1243)

1. 110110=1 X 274+ 1 X 2*4+ 1 %'2* = 1 X 2
=32 + 16+« + 2

Sl U5

54
1239 =1 X 8 + 2 X 8 + 3 X &
—64+16+3
=83
2. (1)12.6 X 7.6 X 232 = 1.9 = 1.4 = 2.9 (2)1.375 + 2.375 + 3.375 + --- +99.375 + 100.375
= (12,6 = 14) X (7.6 = 1.9) X (232 = 29) = (1 + 100) X 100 = 2 + 0.375 X 100
=9 % 4 X 0.8 =101 X 50 + 37.5
=36 X 0.8 = 5050 + 37.5
- 28.8 = 5087.5
3. 2,7 1] 3.[2][4 1] 3.[4][4
26}1;1%2 X 6] .5 X 1].5
6][6] 2 0 & 6171 2 0
Ak 9] 4 4 11[3] 4 4
8(2) 31[61[0][6][0 21[01[11[6][0

=~ 8. (3£3043)

1. 12 X2 X 2=48(J5), 48 =6=8(5), /NEEFR: 8§ X (6 + 1) —12=44 (%),

2. SAaBcp=15 X 12=180(cm?), SaBce=180—15=165(cm?), CE=165 X 2 = 15=22(cm ), ED =22—-12 =
10 (cm ),

3, (364 +241) = 5=121(5¢), 1 FHEIEHE =(241—121) = (3—1) =6 ().

4. 142 X (1+243+4+54+6+7) + 8=65,

5. (33 + 25—46) — (46—36)=2( A )«

6. R ETM: PRGN KT 921, /NF922, 92.1X8=736.8, 922X 8=737.6. H K284 A IRELHIFI,
FrLl HRER737, 737-+-8=92.125~92.13,
7. 160 = (3.5 + 4.5)=20 (F»), 160 X 2 = (3.5 + 4.5) =40 (F#), (300— 20)—40 + 20 = 20=8 ().
8. 12+ 5=2—1=135, 10 X 5—5X 1—(2 + 7) X 5 = 2— 9><2—2—135, i o ﬁ

9. M40 : 32 =5 : 4, FEAALE AN B 2 AT B B AR 20 ) o e A SR T R AR 1 4+ = AN 4+ Zo 5
FC . TR X2 =15 | 24T 3 X5 =1, bt AC AR 5 . BEYHEN T

fFARSX o =21 | Z{FARX =22 BD NaH 5 . CD HARH

(i

1 2
3 9

AE AF _ 2
10. HF 1B~ AC , L EF /| BC, Saesp = SarBD=S1, S1+ S2= S&EEL— — Saasc= 60, %l]—-*"f'ﬂ'ﬁjL EwN, A

W, FFLIY4 S1=S2 H‘f Bl D Mg 5l , St X S2 i kR 30 X 30 =900,

i
Y

B~* D



— . (K75)

1. (6 X4)X5=(6—4) X35X5=7X5=(7—5) X 35=7,

360 = 17 =21 «-oee 3, 714 = 17 = 42, 4646 = 17 = 273 - 5. 360 X 714 X 4646 = 17 2% 4 0.
2. WORTEIA T 8 453 6 F=F7fiF%: (2003—1) = 3 =667 ------ 1, 25 2003 fif %0 8, XM/ NEL
=2 0.9876
B o

3. 1008 + 1009 = 2017,

4. FFEaBELL5 &1, BRLL7 4 6 BE/NYER 41, [5, 7]=35, 35a+41=13b + 7, 35 X 2 + 41 = 111 24F

O = FhEE I B B /NHY L, [ 35, 13] =455, 455 X 2 + 111 =1021, XEEPU{iiZL b & /N —A 2 1021,

5. 11012 — 1001 ¢ =100 ¢, 1001 ® —11 8 = 504 10),

“ WE. (3£1343)

1. (1) =3008 X 10001 X 1060—1060 X 10001 X 3008 = 0,
(2)=2233 X 64 + 22.33 X 36 -E—i X (81—9)=2233 X (64 + 36) + 1 X 72=:22.33 X 100 + 18 = 2233

B 4 4

+ 18 = 2251,
(3)=(126.1—1021) =05+ 24 -04=24 -05 + 24 - 04=48 + 60 =108,

2. 175655—108544 = 67111,

5/11]]2 S([1]|7
X 2 |1]]2 X 2 |[1]]5

110 (2]|4 410 |85

5[ 1 |2 8 1|7
0]12] 4 111613 4
0]18][5]14]4 1117]15]|6||5]|5

—~ fRYLRE .  (33043)
1. (66.5—26) = (10—1)=45(5¢), Efh: 45 X 10=45(55), fHETRI 66.5—45=21.5(5C).

e il el

2 fif: BETBEAT 3x A, ZHRRAT 4x Ao r =10, x=12, REEEAT: 3 X 12236 (A).

3. 240 = 3=80 (41). 453 HBERA 3 ALl /MNILFRES . K 35—19=16 (41), 2 ZBAEHH
80—19—16—16 = 29 ( 4] ). BAMA: 19X1+29X2+16 X 3=125( N\ ).

4.1 80x(280+1) =3241,

5. (19 + 8) = (91—88)=9( A).

6. fMNH A H &R K, FEBIHA, FREAdEsEEE 7 s, 6977 3 . Bkt EISRE A T x /N
5, B2 TR f(3—X /N 6 3X—5(3—X) x = 1.875, WAfTa]EEE & 3 X 1.875= 5625(:|:§|Q 0
7. (36, 24) =12, (16, 24) =8, .

R B A R

e 16433k | > _____________ : 2451 K

3643 K 2497 K
8. SbErG= (14 + 4 - 2—1) X 2=30, Saasc=(2+3+-2—1) X 2=5, Sip=30—5= 25,

9. Je: (50 X 2+ 20) = (4 +2)=20(A), /N: 50—20=30 (4*)4

10. I EF I GH F O &, Seeru=24 X 5= 2=060 (" FHJEK ). XA AD /| BC, Saasc= Sarcr, [6]H
SADHC=SAEHF, Spg=231—060 X 2 =111 (‘FFE ¥ ).

b

FR%Y CE BE
H—H., (3£1053)

1. a=(54), b=(9), ¢=(31),
2. (1) 36810 = 1011100002 , (2) 57410 = 1000111110¢) ,
3. 2016 /> 8 EFMIALIMUZE 6, 2016 4 7 FHEFPIFRINALE R 1, E2& 5.
4. I 6 fL 1 H R Re#E 7 #BR, 2008 +— 6 =334 (4) ----- 4 (1), REh 5.
5. 1.5,
6. 14 + 14=28( \), 28 X 14—14 =378 (¥t ).
N E. (35104)
1. (1)=1=J(2X005) X (4X025) X (4Xx25)]=1=[01X1X10]=1=1=1,

(2)=333 X (468—35 + 567) = 333 X 1000 = 333000,

(3 =2 x (50 =2) = 50,




. @—@15?]*::—6 Him D) X 2— @) 4243 5b = 31.6—141—12, b=1.1, PfifE: a=0.5,

=~ RO, (3304))

11 ST s (225—30 X 0.5) = (05+1)=5(#). 5 fMAT: 5 + 30 =35 (#).

2 (v ) 2R T2 10000 —100 = 9900 (oK ), FEX BRI B : 9900 =+ 5=1980 (2K ), ,{fﬂ‘?i’ﬂﬁ"ﬂﬁ
o i T A BLMIRG : 10000 — 1980 = 8020 ( 3 ). x

3 %32 BD, SaBcp=(4+8) X3+=2=18(cm?) , SBce=18 = 2=9(cm?), SABD=

3X4=2=6(cm?), SBDE=9—6=3(cm?), Ssce : SBDE=CE : ED =3 :1, 151 D &

VEdEZk DF, DF =3cm, FC=4cm, CD=5cm, CE=5 =+ (1+3)X3=3.75(cm),

4, 9 X 4 = (4—1) X 4=48 (I ),

5. 4 +4+2-9=1(4}), (86 + 89 + 1) =2=88(4}), 88 + 4 + 2=94 (4}).

6. GRS, Sacpr=5, #EFEFC, Saprc=5 X 2=10, %#$: FB, Saprs = 10,

FAL R T

%32 DE, SaprB= SapeB= 10, BfPlSabpeB= Saces= 10,

7. (1) (8, 8) HEA&ES7. (10, 4) HIZAE 85, (3, 15)9’*]@7%22%
(2)62=8—2, 627 (3, 8), 101 =102+ 1, 101 FE (11, 1) .

8. Sk =32+ 12 +-2—1=37, Sn=11 + 10—2—1—15 Sy = 37— 15 = 22,

A

9. 250 = 4 =62 (YK ) -+ 2(1_47|e) 250 = 7=35(7) -+ 5(JEH), 250 = (4 X T)=8(PR) -+ 26 ( J&
3), 62+ 35—8=89 (), 89 + 1=90(E).
10. H: 120— (200 + 16—120) = (3—1) —16=56 (), Z: (200—120+16) = 2 X 3 =144 ().

B R AT &R

TN jﬁ%ﬂ (J—::IEZO%)
1. (2848 ), 2. (32cm?), 3. (8cm?), 4. (40 ), 5. (163cm? ), 6. (400cm?), 7. (48m?),

8. ZIXf (&%), v (), J|XF(H)o 9. (50cm?),  10. f/b (40cm?), % (80cm?),
N fREE.  (3£3043)

1. (8 X1+8X3+3X1)X2—1X1X4=066(cm?),

AT X 7+11 XB3+TX3)X2=262(dm?) B (19 X 5+19 X 3+5 X 3) X 2=334 (dm?),
. 150 X 3 + 10 X 6 =270 (cm?),

.8 X 8 X 8=4=128(dm?),

2
3
4
5. SRR (13—4) X (9—4) =45 (cm?), N 2cm, MAERA: 45 X 2=90 (em?),
6. 46 = 2 X 24 =552 (cm®),
i
3
9.
1

. (40 = 4) X (40 - 4) X 40 =4000 (cm’) = 4 Ff,

33X 3X3—1X1X3X3+1X1X1X2=20(cm?),
(25 X 20 X 304+ 15 X 15 X 15) = (25 X 20) = 36.75 dm,

0. 40 = 8=5(m), 5X2X5X4+5X5X2=250(m?),

FRtR BE &5
B, (3k2047)

1. (3) cm, 2. (58) cm?, 3. (35cm?). 4, (84%),

5. —HIREHIA (96) 4y, WAHRAEA (64) 1.

6. (216 m3)s 7. 72 AbK(3)s 8 (1EHHK)e 9. (164) Fi,  10. (2176) cm?.
:."i ﬁ@%@ﬂ (,1\30%)

1. 36 = 12=3(A), 3+2=5(4), 5X 5X 5=125(4).

2. 16 X 25 =400 (cm3) = 4002£F}-.

3. 320 = 2=160 (cm?), 160 = (20—2 X 2)=10(cm), 20 X (10+2 X 2 ) =280 (cm?),
4. (30 X 40 X 21) = (30 X 40 X 2+40 X 10) =9 (cm)

5. (200 X 200 X 11 + 300 X 300 X 4) = (400 X 400) =5 (cm),

6

7

8

9

1

. 20 X 20 X 6 = 2400 (cm?),

I X 1T X[(1+2+3+4) X 4+4 X 4]=56(dm?),

. (3—1)+(4—1)+(5—1)=9(J]), 1 X1=1(m?*), 9X2X1=18(m?), 6X1=6(m?), 6+18=24 (m?),
. 160 = 8=20(cm?*), 60 = 2=30(cm?*), 96 = 4=24(cm?), (20+30+24) X 2=148 (cm?),

0.4 X4X6=9(cm?), 96+1 X1 X 4 X 6=120(cm?),



XM AT EE
— Bz, (3k204))

1. (4), 2. (112), 3. (1), (63), 4. (106), 5. (8.09),

6. (7.2)s 7. (49.2), 8. (10000 ), 9. (2025 ), 10. (58),
T REEL.  (3£3043)
1. 10,
2. X =(1+2+3+---+88)2— (1+2+3+ ... 4+20)2
= 3916 —210°
= 15290956

3. B M. 437 = 3 (mod7), 309 = 1 (mod7), B B T e S
437 X 309 =3 X 1 (mod7) =3 (mod7) , N [AK 1993 = 5(mod7), PFFPlL: 437X309X 1993 =3X5 (mod7)

=15(mod7) = 1 (mod7), Bfi: 437 X 309 X 1993 ¥ 7 [5x4 1

4. 66 X 70 102 X 110 320 X 330
= (68—2) X (68 +2) = (106—4) X (106 + 4) = (325—5) X (325+5)
=68 X 68 —2X 2 =106 X 106 — 4 X 4 =325X%325—5X% 5
=4620 =11220 =105600

5. 36 No RIEHIEAMEFL, 115—7=108, 148—4 =144, 74—2=72, (108, 144, 72) =36, FFLL, XK
RN B2 36 N
6. XN 4 5120, 8% 8 5 60, Bf 12 5 40, 8f 20 5 24,
7. fR: a=2+315+587, b=3.15+ 5.87,
(2+3.15+587) X (315+587+732) — (2+ 315+ 587+ 7.32) X (3.15+ 5.87)
=a X (b+732)— (a+7.32) X b
—a X b+a X 732—a X b—732 X b
= (a—b) X 7.32
=2 X 7.32
= 14.64

8. MEPFHVERKTITIE, BN ARE 1155, KT ERETRKFELITE. Fril, HZH 1155 79 M
TR, BEEAZOMITE. — ok, Q’J*ﬁ{ﬁ[ﬁxﬁﬁmﬁbﬂj% 1155 A EHLF164. 16 2 =8 (X} ),
L, A 8 P A PHE o

9. HATMIANERH, O=A+ A, REBF=AFAH, R A+TA+TA+T+O+O =60, TA+A+A
= O0+0, FREAA+TATA=O+0O=60=+2=30, A=10, O=15, []=20, 10+ 15+ 20 =45,

10. JE5L =40 X 6=240; JaEZ =200 X 50 = 10000,

WX BE ZBX

1. (666), 2. (85), 3. (23 Y 5. (240 5. (36),
6. (46), 7. (37.4), 8. (4.5), 9. (44000), 10. (3),
. R,

1. 20,

2. R = (14+2+3+--+90)>— (1+2+3+---+29)>=4095>—435> = 16579800

3. ﬁ%ﬁbﬁiﬁFﬁEuFG

-

3. 6, 12
5. 10
>
9 B—irH, HEEEUHESIEL, FrllZ2 2 H: 2+2+1+1+1+1=8(1")
T gltn: 1, 4, 3, 12, 5, 7, 9, 11.
4. 24 X 32 189 % 199 89 % 109
= (28—4) X (28 +4) = (194—5) X (194 +5) = (99—10) X (99 +10)
=28 X 28—4 X 4 =194 X 194—5 X 5 =99 % 99—10 X 10
~ 768 = 37611 = 9701

5. 342 X 76.3 + 7.65 X 316 1+918 X 235.7

=763 X (342 +57.6) + 9.18 X 23.7

=705 X 91,84+ Y18 X 2,37

— (7.63 +2.37) X 91.8

= 918
6. 366 =7 X 52+ 2, FFLL2016 4E 12 H 31 HEEH . 2016 453647 53 ANEMIT . 53 =4 X 12+ 5. FFLL 2016
AEH 5/~H 5ﬂfl‘ig HA

10



7. B0 498, 450, 414 BRLL o PRy REHE . Fr VeI Z ZH) A Z) 8OV RER a BEFR. 498—450 =48, 450

— 414 =36, 498—414 =84, FFrsREE (48, 36, 84) =12,

3. 7’761&1%9’3@%%51‘3’12%5’] B, Brbd 36 M1 SrmiiEim 5 30 0 2 7r i —HF . 6 M2 Xt
525 M0 5 0 —HkER . I, 36 A0 1 4 F R T B
f: 1X36+2%X30+5X25=221(4}), 450424 =

2 ﬁﬂq@ﬂfj,ﬁn 30 X 2= 60 M) 5 %EIJEEF—JJHZS X 2=

RIS, Fr L=120]
&K, bl

S M5 SN RERS . T BL 30 AL 2 SN AR T
B, WTF 2545 AT . A1
442—221—2 LA, 1 4 T A

50 (#4), BIEIEAT 182 4.

9 7'7144;3 G, 180 % — GBI}
El’]ﬁﬂfﬁi%ﬁﬁ REOVARE], B8R0 A& 144, 180, 240 2%, # H 23RBS

RHARN R B2, Do 144,
A SR 12 48, ST 60 + 12= 5 (JE).
10. *ﬁﬁﬁ—*;aﬁﬁ%i‘“vﬁ SForla . R

Fr, HBRER 14T

M2 )G, XTREESERTE
BB R 5 S5y, X i BRI 4 HY
7o Ll XHEkT+2/0F:

« B, (3£2043)

1. (3 X

2. (13), 3. (11110),
7. (3), 8. (41),
N A, (38304)

L f#: 31 SkA—RIZE S 1 45,
EH 10>< 20—20 X 5 =100 ()
B, NZ525E 100 = 20 = 5 (5

2 e B . T

B 24 X 6—14 X 6 =60 (£4}),

IR, B PO Ao ml 4t

- XA 13, 214

~N S U B W

8. fit: W 1 kHF—KRIZHEN 145,
FEAELE: 10 X 20—20 X 5= 100 (£} )

100 - 25=4 (K ).

9. ANBLFZ R34, A I+9+9+7=34, 9+9+8+8=34, F[METHL
5 FTLUES BT . BT 9997, 9979, 9799, 7999; 9988, 9898, 9889, 8998, 8989, 8899

MRE 100 X 24+ 120 X 1+ 215 X 1= 535,

10. M3 5) 1]

—y A, (F2043)
1. (10—3) X 4—4 =24 &

« R (3£3047)

1 ]ujf_,{.%%[j‘u)%: 10, 14, 15, 21,

APl 3 X 5=15, 3 X 7=
5 X 7=70,

18

i A 24 B, HAREG

AN, XA
39, 91,

H B FIE AN R 5, 7 X 5=35,

21

2. i BUEEA R RAVZE—{r,

>< 6=30 (), 253,
530 - 15=2 ().

3 i 1k —RIERS

HERST 100 LR EE.

f

T, i
ks TP

5><5><5><5><5 4 3121 (™)

236 X 2=72 (#M),

180, 240 E’Jfﬁt“?’]ﬁ Py

4. (

K)o

18 %tpm , 14 3Ll DRz e K

1”"79[5 VUJa 8 Rk TR I, AR B iy — UK 138 T B 4S540 F 90 il 5
]_hﬁ".‘? QNRFINBE 4 APk, MIRESEF KR LAor i 5 <547 1o INBE 4
i‘ﬁ—‘ ~, AW S Fr)a. EE .
, WHEST A 5 SEfr e XRE, IXHERETR

"..J

240 yo = 2R R AR 00 o, 2 E

RIS

£ T 30 M2 4|y

442 (47 ),

Pl (144, 180, 240)=2 X 2 X 3=12, Hi%E 6 Oy¢

£/ AT BE

5+2+7=24; (5—2)X7+3=24; 3 XT7T+5—2=24%),

955 )., 5. (11200). 6. (2).
9. (14), 10. (

BAFGREKTEN:
, M 25 kAR, HAE) 5 SLEZEHKE

SLAERZ 60 — 4 =15 ([&] ).

12).

Ky 4 55 5 TR, &

o M

BEIKHY 4 {77

HEELE TLIR W 5 #EFR

(10 X 20—15 X 10) = (20—10) =5(47), EH

115 354 55 Tls SBd=58 X ¢ X 114

AT FERAEKE

MO—=37=273, 273=3 X 7 X 13,

WRHYE, Y 20 SLIZJEAH

FAEKEER: (20 X 10—24 X 6) = (10—6) =14 (), BRAFH
R Iﬂ:18—14 4 (k) nz %iﬁ_dﬂ?f

. 300—262 = 38, 262—205=57, 300—205=95, (38, 57, 95) =19,
A DI 23, Frlla = 24=121 -----. 23, a=24 X 121 + 23 = 2927,

B DL/NES B UM 51 5 X 67 = 335, 75—35=40, FiLLINKE Y
B 5 7 TR B B GLRT 4: 7 X 2= 14, FrRUNRS SR 20 XA 25.
B (10 X 20—15 X 10) = (20—10)

H’L"#i’ikuﬁlﬂﬂd% BT 30—5=25(k), b

, 30 3k40H, 53k

&1 BE &X

2. (200)%, 3. (6
6. (302). 7. (5 + 13 % 7] = (1(7—0y=13_ 8.

)c 4, (16),1::-
(24 ) I~ 9. (12) F,

10.

=5 ({77 ).

AN [R) B AL BE A A [7] Y DU L

A 10 4

A ™

5. (12) 43%#.

80) N«

30, 35, 42, 70, fi#: 223—13=210, 210=2 X 3 X 5 X 7, FrLAWifiZk

5 X 7=35, 2X7=14, 2 X 5=10, 2 X3 X5=30, 2 X3 X 7=42, 2 X

Xﬁ}_‘f‘u—

B ARKTEN:

T4 HE-RWER, B2 16 LFHNERESFT 4 HEHNE

(15 X 6—20 X 3) = (6—3) =10 ({4),
10%719[”*’*%&;_4%*% FI T 25—10=15 (L), Byl F 4 n] it 25 L4

Fm—

310 3LE

EAEE: 90— 10

=l 60

A KB (64 X 20—80 X 12) = (20—12)

SRERIZU L, B

11




=40 (f77). JRAMEEN: 1280—20 X 40 =480 ({7), XL A DIZH) RECHA: 480 = (100—40) =8 (K ).
4. (8 X 3+12 X 24 14) X 6=372(3C )
5. (32.8 X 54—164 X 2—49.2 X 2) = (02 X 2)

= (164 X 2 X 54—16.4 X 2—16.4 X 3 X 2) = (02 X 2)

=164 X (108—2—6) =(0.2 X 2)

= 1640 = 0.2 = 2

= 4100
6. 365=7 X 52+ 1, FrPL 19954 12 A 31 H B EHIH, 1995 4345 53 AN ERIH ., 53 =4 X 12+ 5, JrL
1995 4E4 5 4~ H ﬁﬂf‘é ]
7. AT —ﬁﬁii?@ﬁiﬁﬂl , B RERB, FoRA T X 6 =42 (5K ) FE, Win3 N MEWE. A
10 X 9=90 (5% ) ZEE, Fﬁufﬁﬂ[ 90 42 = 48(9&)7“5'@*?&
8. INBEM T H ZHHE I, Wbt 3 MRS —REE R —1TH, XM 4N EELEA SATH, ik
INFEEAS WA SHE, PrUIEA 5! X 31 =720 (F),
9. 412—133 =279, 257—133 =124, 412—257 =155, (279, 124, 155) = 31,
10, a X 33X I3 ¥ 37T X T=a ¥ 1171111,

GEHS AL BFE
— Bz, (35204)

1. (72), 2. €12 ) 3. (40), 4. (11110), 5. (2212.001 ),
6. (24cm?), 7. (4), 8 (15 ) 9. (140 ), 10. (995),
T A, (3£3047)

1. 15 X 12 X 0.5 = 10 = (9cm? ),

2. 128—52=76 (M), 12+7=19(Hk ), 76 = 19=4 (K ),

3.2X2X6+2X2X2=32(dm?),

4. OB TR 5 A 50 ML 30 ﬁ& 1 =S WNHE—IKFRAS 50 ML, ﬂﬂ%—LT 55 URMIX 100 M AR RS 14K,
AR — Ut ] DAAS H 45 ;’j“—-rf'?”w’i*- 50 AR IEFR, B4 —IRFTHEHE 3E’J—if (B E A a5
RIERAT ) 43 Al 25 M 257%1 RS IR 1 BERI 4 Bl 25 #C. 25 ML, ﬁ[l,—m:iFT v BHARHEE R AT, 3
AL EME: WRAFE, UHX S0 R AaAT, A THELEME: 2. JEER A 25 M 25 #0, B3
I\ o FEUPJU&THE%F_M {H A WS A2 O T

5. 50 X 25 X 2 = 500 =5 (/NI )

6. A 2+3+5=10(14), 77 =-10=T(H) -+ 7(AY), BTAEHR 2ALEK, 3/1HEK, 21 BEK, Fr
IE ﬁ{i—ﬁ X T7T+3=24(1), ﬁ.izki-5 X T+2=37(), E_I:j(l:lg TI*”'“BF/’ 24 =13 (4~ )«

7. BB e RO 2)%02 6, Al X I EN 6a fll 6b, (a, b @B %L, Ha<b), XHAMER &N
REEE R 90, A&l ab =06 X 90 = 22X 32X 5,

(1) 2R ab=6 X 90, a=6, b=90, XML& 6 Fl 90 AFFEMNEAREEE R R R E K

(2) @3 ab =18 X 30, a=18, b =30, XML 452 18 1 30, HFE5 U=,

8. Y1 KH 6cm, };&565{ (48, 42)—6((:1'1‘1), (48 — 6) X (42=6) =56 (H),

v, 7’JE:—',-.;1=E?E’J B T%n:li“l Fr LB —AE s ERF FEEAS/DT 20, A0 DI —
,fJF”“¥ (B2 4 iR EFA— it TasasE. fla, &a 13 281, IrUEmEERGEE 3 HfH
1, B HFETFH 4 WRE—RiarE. Hib, b T RIEGE—KIEHE T2, 2/0FE 5 A%
10. M HiaF., A 52 icAfE5E AEI’J FR A el %€ SN ia F A 2]
FEARTYE)INXEAGENIR)

=EANENXEAR

=ENXF AR

=FE AR

= R

u-uu

IIrrrH

g

I.LI.lL

5% BE &X
— H%. (3k2043)

1. (9930). 2. (27.25), 3. (7). 4. (149), 5. (91),
6. (ZEHEMA=MILHERRLK, =MAIERRRKE R (4X4+-2=28),
7. £3)s 8. (70)> 9. [al3 e 10. 554 (15) 24, H (35) 4.
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fitp 7L

(3£3073)

1. ®FES5 X 1+4X2+3X3+2X4+5=35(4%h),
2. 50 X 30 X (20—18) + 120 = 3120 (cm?)

3. BeImlEFATA] L

1]

LN ANG B

G

T

MR R e, e Ba

B Hb N A H TR HE A

1. (40—0.5 X 2) X (26—0.5 X 2) X (355—0.5) = 34125 ( 27} ).

2. XS B a) e :
Fir LA b5
3. (228, 276, 336) =12,
JE o
4 THmP

5

B,

JLEx, T‘“
}L%*H b 4 ﬂéﬁj_‘ﬁ*ﬂ
A (EKE+ FE)XEF2, B
B 21K 2 F Ak

6. i T
BRIP4 N B A
B~ 4 X4 EI‘JLJ:TT
,Tﬂzxzmmﬁ%

T8 WA W) F8 B i, R
—1410) = (43—15)

1. &

7

\N\

3. 1

iX;

Sk

B
s

| NI

JE 161

70=2X5X7=1X70=2X35=5X14=7 X 10,

To 11.76 7540 2K = 11760cm’,
F1 BC OB — R

FEFSE, XphEK 180

35

=

"'-._

X 21 =192 (1),
9. fi:

S 1 R
n_E "/ 10 #r
W R A TR 15 LAz

10. fi#: A 3Pas

FH 24 T4

NFZ 6 DL,
CRARR 7+ (6-5)=7(4), 3

B/NEK 12

=21(4),

B 1 SkA 1 RIZHELN 1477
.10 {77,

A=

2w, A
7511'*"’“%

E}Ka DJ H#

=5
=34

7308 E’]

20 LA 5 Foli
ERHH YT 10 SLAFENZ L,
Fir LI )t A 3 (20+10)X5_150(f

<= 10 k4,

NN ATE @

*3AB = BE, CD = CE,
ZHIE

i (228 + 276 + 336 ) —

f

, FrbAE a1

HZE |/, Al AP 15X 94 =
R e R 245 R 215 X 73—43

15 LA 6 Fon

100 443,

FirEL, w5 KA

ﬁ}!fq:ﬂ:uo % 5—15 X 6) = (6—5)=10 (%),

Fir LLREPF Ak 4 A RIS T
11760 = 28 = 20 = 21 (JEK ).

360 = 2=180 (2% ), 616 = 2=308 (2k¢), BFrLL¥ 180 KF1 308 147 1k,
(180, 308) =4, By

Fir 2l AB+CD = BE + CE
IFH A 20 X 20 = 2 =
HAEIX1+2X2+3X3+4X 4=30(4) IEHFTE,
B 1X1+2X2=5(/4) IEH T

i 94 24 T N#E
R TN 94—21=73(4),

“%ﬁﬁiﬂ’:} H A

4. (92, 20) =4, 92—4 234 .Al ik 1 NA 23 N. [EIE, Aﬁﬂﬂﬁ%ﬁ%lﬂiﬁﬁ%ﬁl%%ﬁ, A4
ik 5 AN RHReE 5, 9, 13, 17, 1, XAANET, B4k 5 AR GEHR 10,
5. 14><11+9><%—181(7’LH
6. fif: 1LF—RKRMBERFT 2HFE-RWER, B4 8LFWERSEFT 16 HFERWERE, 5 L4H 10 HFEH
BEST 20 HFEMER. ik HFEFERIZ 1{55*““ FRAERKPESEN: (15X 12—-16 X 10) + (12—10) =
10 (43), JRAWERR: 180—10 X 12=00 (f7). XEFEA PIIZH)RE A : 60 + (20—10) =6 (K ).
7. 36 {4y, A 8%, 64, 54, (288, 216, 180) =306, 288 - 36=8(F%), 216 - 36=6(H), 180 = 36 =
53 (% )e
8. IR PUNELI 2 215 A2 1649 B2 %L, 1649 =17 X 97, XA A5 LA EER K ) A& 97,
17=1+2+3+11, FrPLXPUANER B REY AL 97 X 11=1067.,
ﬁ—'"ﬁﬁ ANEE A 20 10 20 00 00 W T MNAERAENA, B, C, D, E, fA+B+C+D+E=
5, WA 4w AME, UM E FGHoMr. #E KT 0, IR E=1, %Hﬂﬁli’:“t%‘ﬁ HEL Y —k, H B
IR, IBAFILKRT 5, i, RELE=0, A KT 0/NT 4 %"Dﬂt—*O mbD=1, N B KT 0, FHA
KT 0, WM AR CIIKIES, FrllD=0, ApSET2; A=2, alfiB+C=3, HFY B=1, C=2 K&
BRe FrPASE —17H) 522, 1. 2, 0, 0,
10. B THFE 42 I KRB
K (dm) | 5 (dm) | & (dm) | AT RAE SRR (dm?)

7 — 3 2 3 42

i 9 2 1 58

= X 6 1 54

Ze%Y CE BE

—\ EHS.  (F2043)
1. (144), 2. (70), 3. (19), 4. (76), 5. (15) em, (77) Ht, 6. (12cm?),
7. (2200 ) Nii 8. (90), 9. (210), 10. 158 X 4 = 632
T R, (FE304))

BiZE (6—4) X 2=4(4) Wht. BTELE3I+4=7(1),
BT 5 X 7+ 3=38(A) B

12=70 (Bz)o AT/ 70 4~/NE
E.

TR B R Z)EL 4.

= BC = 20cm,

200 (cm?),
] T

L ]

1E 7 )2
= 141

e 342 X 2/91ETT
2 30X4—5X3=105(1 ) .

0 (I OHF, ZZEm| TN (1998

100—90 = 10 (43)., gaﬁ)zj;a@

20 SLAIZ 5 K7,
1150 = 10 = 15 (L) ,

7, 90 147,

£ 105,

QZEJJT
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SRt (20+10) X 5 =150 (24 ).




